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Module-l
Dcflne Managemcnt. Explain the various leve Is of rnanagement.
Describe the steps in planning process.
"Management is a Science or Art" - .lustil-v.

OR
List and explain the varions characteristic and nature of managemcnt.
What is planning'/ E,xplain the various types of organizational plans.

Module-2
a. List and explain any two main types of organization structurc.
b. With the aid ot'block cliagrarn, explain Maslow's Hierarchy of neecls tlreory

GBG$$GffiEME

[.-itth Semester B.E. Degree Examination, July/August 2022

Management and Economics

18MRs1

Max. Marks: I00
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(10 N{arks)
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Notc: l. Answer ony FIVE.full questions,choosittg ONE fullquestion.from euch motlule.
2. Use o./'Interest tables is permittecl.

la.
b.

2a.
b.

3

a.

OR
What is Se lection process and l{ecruitment'l Discuss the various soLlrces of recruitnrcr-rt.

(0tl Marks)
Discuss the steps involved in a control process. List the essential characteristics of'a sound
control process. (12 Nlarks)

h.

Module-3
State and cxplain the law of supply and dcmand rnentioning thc lactors influencing it.

(Otl N{arks)

An utility is purcha-sed fbr an accoLrnt of Rs. 17.500/- and it is expectcd to scrvc lor lour
years. If the interest rates are 6oh for sirnple interest case ancl l0%, for compound intcrcst
case calculate thc intcrcst carncd in both the cascs and oflbr your cor-nments 106 \Iarks)

c. What is cash flow ciiagrarn'l Skctch ancl explain thc CFD liom a bonower's and I-cudcr's
point ol''vieu'.

0lt
With a neat sketch explain problern solving process.

A pcrson takes a loan o1'Rs. 10,000 frorn a bank of interest of l0ol,P.A.

106 \Iurks)

interest is compounded.
i) Annually ii)Half yearly iii) Quarterly iv) Monthly

c. A loan of Rs.5,000 is to be repaid in equal rnonthly installments over 2Yz ycars.'l'hc
nominal intcrest rate is 6 percent. IIow much is ctrch installnient'l (04 llarks)

6a.
b.
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Module-4
'l'rvo 

ntodels clf r-nachine perfbrr the same functiott. Type i machit-tc has a Iow irlilial cost ol

I{s. 9.500, relatively high operating costs of Rs.1900 per year nlorc thatl that o1'typc
2 urachines. trncl a short lilb of 4 yeiirs. The ntore expensivc type 2 machiuc costs lis.25,100
ancl can trc kept in service econornically fbr 8 years. 

-['hc scrap value liom cithcr t-nachinc of

its lilb will [arely covcr its rernoval cost. Comparc the 2 trachines by annLral ccluivaicnt

methoci with rninimllilt rate of rctutn 8tZo.

b. A larnr house can be purchasecl firr 90,000 and the expected resale value

60,000. II'the annual rental inconre is Rs. I 1,800 And cxpenses Rs.4.700

rate ot'return eamed on this farm house .

OR
l0 a. What is clcpreciation'l l.ist and cxplain thc causcs of dcpreciation

b. Explarn how sellirrg pricc olcotnponcnts are tlxed.

OR
a. An aircralt assernbly I-rxture has a purchase pricc of Rs.9,00,000 and closcd as a -5 ycar

propcrty. Usc of trxture is crpccted to rcsult in an annual betbre tax savirrgs ol'11s.3,00,000

krr tr period of'6 years, at the encl o1'r,vhich time it u,ill be obsolctc ancl virttrallv worlhlcss.

Applying the appropriatc acceleralccl schedLtle, detertnine :

i) Thc beftirc tax prescnt r.vorth o1'the invcstment at an intercst rate of'40 pcrccrtt

ii) Thc aller tax prescnt worlh o1'the investment r'vith an eflbctive tax rate of 40 pcrccnl zurrl

(10 )il:rrks)an interest rate of 20 Percent.
b. Trvo motorcyclcs of brand'P'and'Q'are avarlable on the following tcrnts:

i) Motorcycle 'P' - makc a clorvn payment o1Rs.5.000 ad thc Rs.6,000 at

year for 7 years

ii) Motorcyctc 'Q' - nrakc a dorvn paynlent of Rs.15,000 and no payrnent lor thc ltcxt 3

years. From cncl of thc 4'l' lrcar annual payments of Rs. 1,00.000 for thc ncxt 4 ycars.

Se lcct thc bcst r.r-rotor cycle based on futurc rvorlh. (10 I'Iarks)

Module-5
a. List and cxplain thc components ol'product cost, (06 Marks)

b. A srrall {lrm is procir-rcing 100 pins/day. The direct rnaterial cost is fbund to bc Its.160.

direct labour cost is Rs.200 ar-rd fhctory over heads chargcablc arc Rs. 250. Ilthc sclling orr

cost is 40?b of fiictory cost. what must be thc sclling pricc ol'cach pclt to realizc a prolit o1'

14.6% of selling price'l (061'Iarks)

c. A CNC machinc cost Rs.30,000 is estrmated to ser\c lor 8 years a{ter r,vhich its salvagc

value is estimatcd to be Rs. 2,50,000. Find :

i) Depreciation tbuncl at the encl of thc 5'l'year by lixccl percentage tnethod ani.l cicclining
L"ralance method

ii) Book value of the nrachine aller 4'l'ycar ancl 6tl'year by dcclining balancc mcthocl.
(0tl N{arks)

(10 Nllarks)

alicr 20 ycars is

What r,vill bc thc
(10 NIarks)

thc cnd o1'cach

(06 \larks)
(06 Marks)

c. Computers purchased by a public utility cost Rs. 7.000 each. Past reoords indicatc that thcl'
havc uscfLtl lile ol5 ycars. after ra,hich, thc.v tvill be clrsposed otl u,ith no salvagc valuc.'l'hc
company curentlv has cost o{-capital c-tt7"h. Dctcrmine the tbllowing by using straight linc
rnethod.
i) Depreciation at the encl of'cach ycar
ii) Depreciation rcserve accumulatcd at thc end of year 3

iii)Book vaiue o1'compute r at thc end o['year 3.

>F>k**r.
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(Otl l'larks


